


�C�D ��

�C �D ��

�R�e��  

�C �D ��

�Ÿ�v��

�R�x,  �R�z�� �C �D ��

�R �x �=
�1�
�2�

�C �D ��

�³x�
(1 - Ÿ �x �)u�u

�2 �
+ w

�2 ���

�R�z �=
�1�
�2�

�C�D ��

�³z�
(1 - Ÿ �z �)w�u

�2 �
+ w

�2 ���

�³x  ,  ³z �  

u w �Ÿ�x� ,  Ÿ�z��

�C �D ��

�C �D �� �Ÿ�v��

�C �D ��

�Ÿ�v��

 

�C�D �� �C �M��

180

360

220

1

3

wave

WCH

wave run-up

gauge

ICH

Unit : cm

h=40

180

360

220

1

3

wave

WCH

wave run-up

gauge

ICH

Unit : cm

h=40



�C �D ��

�C �D ��

�C �D ��

�C �D ��

�C �D ��



 

�C �D ��

�C �D ��

  �C�D��



�C�D ��

�C�D ��

�C �D ��



�C �D ��

�C�D �� �C �D ��









�C �D ��

�C �D ��

�C �D ��



 



�C�D �� 

 





 

�Ÿ�v��

 �C �D ��

�Ÿ�v��

�Ÿ�v��

  �Ÿ�v��



�C�D �� �Ÿ�v��

  



�Ÿ�v�� 

 

 

�Ÿ�v�� 





 

�C �D �� �Ÿ�v��

�C �D ��

�C �D ��

�C �D ��

�C�D ��

�Ÿ�v��


